
BIOLOGY

BOOKS - EVERGREEN BIOLOGY

(ENGLISH)

SAMPLE QUESTION PAPER 1

Section I

1. Name the following:

The layer of the eyeball that provides

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_pJUfcaJ0I02w


nourishment to the eye.

Watch Video Solution

2. Name the following: 

One gaseous compound which depletes the

ozone layer.

Watch Video Solution

3. Name the following : 

The structure which connects the placenta

https://dl.doubtnut.com/l/_pJUfcaJ0I02w
https://dl.doubtnut.com/l/_NBV96ZmyCFKs
https://dl.doubtnut.com/l/_pEHJTpxgLLAb


and the foetus.

Watch Video Solution

4. Give biological/ technical terms for the

following: 

A pair of corresponding chromosomes of the

same size and shape, one from each parent.

Watch Video Solution

https://dl.doubtnut.com/l/_pEHJTpxgLLAb
https://dl.doubtnut.com/l/_h9KjV7KQzB14


5. Name the compound formed by

haemoglobin with carbon dioxide.

Watch Video Solution

6. Correct and rewrite the statement by

changing the biological term that is

underlined for each statement: The theory of

Inheritance of Acquired Characters was

proposed by Watson and Crick.

Watch Video Solution

https://dl.doubtnut.com/l/_Jt75WcuBdvJ1
https://dl.doubtnut.com/l/_ODtxQD0nvm9P


7. The statement given below is incorrect.

Rewrite the correct statement by changing the

underlined words of the statement. 

The protective sac which develops around the

developing embryo is called the Pericardium.

Watch Video Solution

8. The statement given below is incorrect.

Rewrite the correct statement by changing the

underlined words of the statement 

https://dl.doubtnut.com/l/_ODtxQD0nvm9P
https://dl.doubtnut.com/l/_nngE5BwcMs2t
https://dl.doubtnut.com/l/_Jefv1N5JH94V


Maintaining balance of the body and

coordinating muscular activities is carried by

the cerebrum.

Watch Video Solution

9. Correct and rewrite the statement by

changing the biological term that is

underlined for each statement: The kidney is

composed of number of neurons.

Watch Video Solution

https://dl.doubtnut.com/l/_Jefv1N5JH94V
https://dl.doubtnut.com/l/_y0VybkTARlig
https://dl.doubtnut.com/l/_uiKzegm3s7vn


10. Correct and rewrite the statements by

chainging the biological term that is

underlined for each statement: 

The part of the eye which can be donated from

a clinically dead person is the 

Watch Video Solution

Retina
––––––––

11. Give biological reason for the following

statement 

The birth rate in India is very high.

Watch Video Solution

https://dl.doubtnut.com/l/_uiKzegm3s7vn
https://dl.doubtnut.com/l/_IjLspWBB05Aj


12. Give biological reason for the following: 

Carbon monoxide is dangerous when inhaled.

Watch Video Solution

13. Give suitable biological reasons for the

following statement : 

Root hairs become flaccid and droop when

excess fertilizers are added to the moist soil

around them .

https://dl.doubtnut.com/l/_IjLspWBB05Aj
https://dl.doubtnut.com/l/_C1MOH9DWhxuf
https://dl.doubtnut.com/l/_vwC3RRqXM3qh


Watch Video Solution

14. Give suitable biological reasons for the

following statements : 

Acid rain is harmful to the environment.

Watch Video Solution

15. Give reason for the following 

All life on Earth is supported by

Photosynthesis.

https://dl.doubtnut.com/l/_vwC3RRqXM3qh
https://dl.doubtnut.com/l/_OSRDTLVBuq7f
https://dl.doubtnut.com/l/_msBwQp1wMixm


Watch Video Solution

16. Match the items givenn in Column A with

the most appropriate ones in Column B and

REWRITE the correct matching pairs: 

Watch Video Solution

https://dl.doubtnut.com/l/_msBwQp1wMixm
https://dl.doubtnut.com/l/_O6k0lA1IhRlw


17. Choose the correct answer from the four

options: 

While recording the pulse rate, where exactly

does a doctor press on our wrist?

A. Nerve

B. Vein

C. Artery

D. Capillary

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_ylPnopwNne5I


Watch Video Solution

18. In a human male, a sperm will contain:

A. Both X and Y chromosomes

B. only Y chromosome

C. Only X chromosome

D. Either X or Y chromosome

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_ylPnopwNne5I
https://dl.doubtnut.com/l/_ehPVrk0dDJWY
https://dl.doubtnut.com/l/_JUFLHJbXS0HN


19. A muscular wall is absent in

A. Capillary

B. Venule

C. Arteriole

D. Vein

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_JUFLHJbXS0HN


20. On which day of the menstrual cycle does

ovulation take place ?

A. 5th day

B. 28th day

C. 14 day

D. 1st day

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_eLYnDNXNRfex
https://dl.doubtnut.com/l/_sFoXYxS37CzP


21. Choose the correct answer 

Which one of the following does not affect the

rate of transpiration ?

A. Light

B. Humidity

C. Wind

D. Age of the plane

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_sFoXYxS37CzP
https://dl.doubtnut.com/l/_u3wiiXQUQqiI


22. Identify the ODD term in each set and

name the CATEGORY to which the remaining

three belong: 

Example: glucose, starch, cellulose, calcium 

Odd term: calcium 

Category: others are different types of

carbohydrates 

Addison's disease, Cushing's Syndrome,

Acromegaly, Leukemia.

Watch Video Solution

https://dl.doubtnut.com/l/_u3wiiXQUQqiI


23. Identify the ODD term in each set and

name the CATEGORY to which the remaining

three belong: 

Example: glucose, starch, cellulose, calcium 

Odd term: calcium 

Category: others are different types of

carbohydrates 

Insulin, Adrenaline, Pepsin, Thyroxine.

Watch Video Solution

https://dl.doubtnut.com/l/_J4Wwi17oidZK


24. Identify the ODD term in each set and

name the CATEGORY to which the remaining

three belong: 

Example: glucose, starch, cellulose, calcium 

Odd term: calcium 

Category: others are different types of

carbohydrates 

Axon, Dendron, Photon, Cyton

Watch Video Solution

https://dl.doubtnut.com/l/_w0zSaDwrLpcU


25. Identify the ODD term in each set and

name the CATEGORY to which the remaining

three belong: 

Example: glucose, starch, cellulose, calcium 

Odd term: calcium 

Category: others are different types of

carbohydrates 

Chicken pox, Colour blindness, Haemophilia,

Albinism.

Watch Video Solution

https://dl.doubtnut.com/l/_m2NdIGWN9Fw9
https://dl.doubtnut.com/l/_ymYJiNCqniQ2


26. Identify the ODD term in each set and

name the CATEGORY to which the remaining

three belong: 

Example: glucose, starch, cellulose, calcium 

Odd term: calcium 

Category: others are different types of

carbohydrates 

Polythene bag, Crop residue, Animal waste,

Decaying vegetable.

Watch Video Solution

https://dl.doubtnut.com/l/_ymYJiNCqniQ2


27. Expand the following biological

abbreviations 

(i) (ABA)

Watch Video Solution

28. Expand the following biological

abbreviations 

(ii) (IAA)

Watch Video Solution

https://dl.doubtnut.com/l/_eI0JXC0J13BW
https://dl.doubtnut.com/l/_aUTokcvKN461
https://dl.doubtnut.com/l/_ApMS8cxsIEho


29. Expand the following biological

abbreviation ATP

Watch Video Solution

30. Expand the DNA

Watch Video Solution

31. Expand the following biological

abbreviation : 

https://dl.doubtnut.com/l/_ApMS8cxsIEho
https://dl.doubtnut.com/l/_aTGLVmylMeKz
https://dl.doubtnut.com/l/_UM2IszsmdrnE


(I) ACTH and TSH 

(ii) TSH

Watch Video Solution

32. Study the picture given below and answer

the following questions : 

 

(i) Identify the type of pollution. 

https://dl.doubtnut.com/l/_UM2IszsmdrnE
https://dl.doubtnut.com/l/_dzOQ8cWTAfCU


(ii) Name one pollutant that causes the above

pollution. 

(iii) Mention the impact of this pollution on

human health. 

(iv) State one measure to control this

pollution. 

(v) What is a 'Pollutant ? Explain the term.

Watch Video Solution

33. Study the picture given below and answer

the following questions : 

https://dl.doubtnut.com/l/_dzOQ8cWTAfCU
https://dl.doubtnut.com/l/_KnZAxrbybtAK


 

(i) Identify the type of pollution. 

(ii) Name one pollutant that causes the above

pollution. 

(iii) Mention the impact of this pollution on

human health. 

(iv) State one measure to control this

pollution. 

(v) What is a 'Pollutant ? Explain the term.

https://dl.doubtnut.com/l/_KnZAxrbybtAK


Watch Video Solution

34. Study the picture given below and answer

the following questions : 

 

(i) Identify the type of pollution. 

(ii) Name one pollutant that causes the above

pollution. 

https://dl.doubtnut.com/l/_KnZAxrbybtAK
https://dl.doubtnut.com/l/_14VD75CbnKvY


(iii) Mention the impact of this pollution on

human health. 

(iv) State one measure to control this

pollution. 

(v) What is a 'Pollutant ? Explain the term.

Watch Video Solution

35. Study the picture given below and answer

the following questions : 

https://dl.doubtnut.com/l/_14VD75CbnKvY
https://dl.doubtnut.com/l/_QQZEuxvoIqqd


 

(i) Identify the type of pollution. 

(ii) Name one pollutant that causes the above

pollution. 

(iii) Mention the impact of this pollution on

human health. 

(iv) State one measure to control this

pollution. 

(v) What is a 'Pollutant ? Explain the term.

https://dl.doubtnut.com/l/_QQZEuxvoIqqd


Watch Video Solution

36. Study the picture given below and answer

the following questions : 

 

(i) Identify the type of pollution. 

(ii) Name one pollutant that causes the above

pollution. 

https://dl.doubtnut.com/l/_QQZEuxvoIqqd
https://dl.doubtnut.com/l/_cHO5J1DWkMag


Section Ii

(iii) Mention the impact of this pollution on

human health. 

(iv) State one measure to control this

pollution. 

(v) What is a 'Pollutant ? Explain the term.

Watch Video Solution

1. Given below is an experimental setup to

demonstrate a particular tropic movement in

https://dl.doubtnut.com/l/_cHO5J1DWkMag
https://dl.doubtnut.com/l/_HR7loI6CJkhp


germinating seeds. Study the diagram and

answer the questions that follow : 

 


Label the parts 1 and 2.

Watch Video Solution

2. Given below is an experimental setup to

demonstrate a particular tropic movement in

germinating seeds. Study the diagram and

answer the questions that follow : 

https://dl.doubtnut.com/l/_HR7loI6CJkhp
https://dl.doubtnut.com/l/_tHa7UrxVTqyX


 


Name the tropic movement shown by part 1.

Watch Video Solution

3. Given below is an experimental setup to

demonstrate a particular tropic movement in

germinating seeds. Study the diagram and

answer the questions that follow : 

https://dl.doubtnut.com/l/_tHa7UrxVTqyX
https://dl.doubtnut.com/l/_VNkmNHuFTVHW





Part 1 is affected by two stimuli. Name them.

Which one of the two is stronger

Watch Video Solution

4. Given below is an experimental setup to

demonstrate a particular tropic movement in

germinating seeds. Study the diagram and

answer the questions that follow : 

https://dl.doubtnut.com/l/_VNkmNHuFTVHW
https://dl.doubtnut.com/l/_VZOQG7ZQLDBN





What is Thigmotropism 2 Give one example,

Watch Video Solution

5. Given below is an experimental setup to

demonstrate a particular tropic movement in

germinating seeds. Study the diagram and

answer the questions that follow : 

https://dl.doubtnut.com/l/_VZOQG7ZQLDBN
https://dl.doubtnut.com/l/_xTDGZFnqDjXA


 


What is meant by Positive and negative tropic

movements in plants

Watch Video Solution

6. Give the exact location and one function of

the following: 

Testis

Watch Video Solution

https://dl.doubtnut.com/l/_xTDGZFnqDjXA
https://dl.doubtnut.com/l/_WOEUKLfnJ8Ye


7. Mention the exact location of the following :

Incus

Watch Video Solution

8. Mention the exact location of the following

structures : Thylakoids.

Watch Video Solution

9. Give two functions of the amniotic fluid.

https://dl.doubtnut.com/l/_trpNQ2qZw3SJ
https://dl.doubtnut.com/l/_we3md9pzL33h
https://dl.doubtnut.com/l/_5kxxhEJl1N13


Watch Video Solution

10. State the exact location of the following: 

Corpus callosum

Watch Video Solution

11. The diagram given below represents an

experiment to prove the importance of a

factor in photosynthesis. Answer the

questions that follow 

https://dl.doubtnut.com/l/_5kxxhEJl1N13
https://dl.doubtnut.com/l/_TLzQdQ46Vkh7
https://dl.doubtnut.com/l/_czQ2sKU26wBE


 


Name the factor studied in this experiment

Watch Video Solution

12. The diagram given below represents an

experiment to prove the importance of a

factor in photosynthesis. Answer the

questions that follow 

https://dl.doubtnut.com/l/_czQ2sKU26wBE
https://dl.doubtnut.com/l/_FmmZ8AeseHZi


 


What will you observe in the experimental

What will you observe in the experimental

Watch Video Solution

13. The diagram given below represents an

experiment to prove the importance of a

https://dl.doubtnut.com/l/_FmmZ8AeseHZi
https://dl.doubtnut.com/l/_dQlJu7vC9AYU


factor in photosynthesis. Answer the

questions that follow 

 


Explain the process of Photosynthesis

Watch Video Solution

https://dl.doubtnut.com/l/_dQlJu7vC9AYU


14. The diagram below represents an

experiment conducted to prove the

importance of a factor in photosynthesis 

Study the same and then answer the

questions that follow 




https://dl.doubtnut.com/l/_MAafUpnOHFpF


Give a balanced chemical equation to

representa procesa photosynthesis

Watch Video Solution

15. The diagram given below represents an

experiment to prove the importance of a

factor in photosynthesis. Answer the

questions that follow 

https://dl.doubtnut.com/l/_MAafUpnOHFpF
https://dl.doubtnut.com/l/_s4iT7xV5MabD


 


Draw a neat, labelled diagram of an

experimental setup to show that oxygen is

released during photosynthesis

Watch Video Solution

https://dl.doubtnut.com/l/_s4iT7xV5MabD


16. Give biological reasons for the following : 

Injury to Medulla oblongata results in death.

Watch Video Solution

17. State the main functions of the following:

Cytokinins

Watch Video Solution

https://dl.doubtnut.com/l/_XNRpWBKdoeRx
https://dl.doubtnut.com/l/_fgNimBkRY1oR


18. State the main functions of the following: 

Tears

Watch Video Solution

19. State main functions of : 

Coronary artery

Watch Video Solution

https://dl.doubtnut.com/l/_J3gCw2sxdMPf
https://dl.doubtnut.com/l/_GbVI4fcuPqEy


20. State the functions of the following: 

Seminal vesicles ....

Watch Video Solution

21. The diagram given below represents an

organ system in the human body. Study the

same and answer the questions that follow: 

https://dl.doubtnut.com/l/_1XLm5uCITPnp
https://dl.doubtnut.com/l/_qFz8D3VUi8Zr


 


Identify the system.

Watch Video Solution

https://dl.doubtnut.com/l/_qFz8D3VUi8Zr


22. The diagram given below represents an

organ system in the human body. Study the

same and answer the questions that follow: 

 


https://dl.doubtnut.com/l/_jY6X91zWdPsm


Label the parts marked 2 and 4. Mention the

function of part 5.

Watch Video Solution

23. The diagram given below represents an

organ system in the human body. Study the

same and answer the questions that follow: 

https://dl.doubtnut.com/l/_jY6X91zWdPsm
https://dl.doubtnut.com/l/_NW5wDgKyjC4c


 


Name the structural and functional units of

the part marked 1.

Watch Video Solution

https://dl.doubtnut.com/l/_NW5wDgKyjC4c
https://dl.doubtnut.com/l/_WxK7kowe2Pow


24. The diagram given below represents an

organ system in the human body. Study the

same and answer the questions that follow: 

 


What is the fluid that accumulats in part 3? 

https://dl.doubtnut.com/l/_WxK7kowe2Pow


Which is the main nitrogenous waste present

in it?

Watch Video Solution

25. The diagram given below represents an

organ system in the human body. Study the

same and answer the questions that follow: 

https://dl.doubtnut.com/l/_WxK7kowe2Pow
https://dl.doubtnut.com/l/_iZUMMhNq0NDJ


 


Draw a neat, labelled diagram showing the

longitudinal section of part 1.

Watch Video Solution

https://dl.doubtnut.com/l/_iZUMMhNq0NDJ


26. The diagram given below represents an

endocrine gland in the human body. Study the

diagram and answer the following questions : 

 


(i) Identify the endocrine gland. Where is it

located? 

(ii) Why is the above gland referred to as the

'Master gland' ? 

https://dl.doubtnut.com/l/_iZUMMhNq0NDJ
https://dl.doubtnut.com/l/_UBLyQGjeVrij


(iii) Name the hormone which in deficiency

causes Diabetes Insipidus. How does this

disorder differ from Diabetes Mellitus ? 

(iv) Explain the term 'Hormone'. 

What is the role of Tropic hormones in the

human body? 

(v) Which lobe of the above gland secretes: 

1. Oxytocin 

2. ACTH 

3. Growth hormone.

Watch Video Solution

https://dl.doubtnut.com/l/_UBLyQGjeVrij
https://dl.doubtnut.com/l/_vZNraAOr7ArW


27. The diagram given below represents an

endocrine gland in the Human body. 

 


Why is the above gland referred to as the

Master gland?

Watch Video Solution

https://dl.doubtnut.com/l/_vZNraAOr7ArW


28. The diagram given below represents an

endocrine gland in the Human body. 

 


Name the hormone which is deficiency causes

Diabetes Insipidus. 

How does this disorder differ from Diabetes

Mellitus?

Watch Video Solution

https://dl.doubtnut.com/l/_DmbmkykoXwE3


29. The diagram given below represents an

endocrine gland in the Human body. 

 


Explain the term Hormone. 

What is the role of Tropic hormones in the

human body?

Watch Video Solution

https://dl.doubtnut.com/l/_DmbmkykoXwE3
https://dl.doubtnut.com/l/_UGrDNr4OzdaI


30. The diagram given below represents an

endocrine gland in the Human body. 

 


Which Iobe of the above gland secretes. 

1. Oxytocin 

2. ACTH 

3 Growth hormone

Watch Video Solution

https://dl.doubtnut.com/l/_lcErIMNa1jW5


31. Given below is an apparatus which was

setup to investigate a physiological process in

plants. The setup was placed in bright

sunlight. Answer the questions that follow: 

 


Name the process being studied. Define the

process.

https://dl.doubtnut.com/l/_1TtSpJNvNfC2


Watch Video Solution

32. Given below is an apparatus which was

setup to investigate a physiological process in

plants. The setup was placed in bright

sunlight. Answer the questions that follow: 

https://dl.doubtnut.com/l/_1TtSpJNvNfC2
https://dl.doubtnut.com/l/_DgRwn2QlNIcP


 


Why was the pot enclosed in a rubber sheet ?

Watch Video Solution

33. Given below is an apparatus which was

setup to investigate a physiological process in

plants. The setup was placed in bright

https://dl.doubtnut.com/l/_DgRwn2QlNIcP
https://dl.doubtnut.com/l/_nNXlrxvdFsWv


sunlight. Answer the questions that follow: 

 


Mention two external factors which can

accelerate the above process.

Watch Video Solution

https://dl.doubtnut.com/l/_nNXlrxvdFsWv


34. Given below is an apparatus which was

setup to investigate a physiological process in

plants. The setup was placed in bright

sunlight. Answer the questions that follow: 

 


List two adaptations in plants to reduce the

above process.

Watch Video Solution

https://dl.doubtnut.com/l/_cCvjgLqkybmP


Watch Video Solution

35. Given below is an apparatus which was

setup to investigate a physiological process in

plants. The setup was placed in bright

sunlight. Answer the questions that follow: 

 


https://dl.doubtnut.com/l/_cCvjgLqkybmP
https://dl.doubtnut.com/l/_z3uMKY8mNOzw


Draw a neat, labelled diagram of a stomata!

apparatus.

Watch Video Solution

36. Given below are two stages in the

evolution of man. Study them and answer the

questions that follow : 

 

(i) Identify Australopithecus and Neanderthal

https://dl.doubtnut.com/l/_z3uMKY8mNOzw
https://dl.doubtnut.com/l/_LXZ5DucDjSDz


man from the above pictures. 

(ii) Mention two characteristic features each

for the two stages. 

(iii) Who proposed the theory of Natural

Selection? 

(iv) Name the organism used as an example to

explain 'Industrial Melanisum'. 

(v) Give two examples of Vestigial organs in

humans.

Watch Video Solution

https://dl.doubtnut.com/l/_LXZ5DucDjSDz


37. Given below are two stages in the

evolution of man. Study them and answer the

questions that follow : 

 

(i) Identify Australopithecus and Neanderthal

man from the above pictures. 

(ii) Mention two characteristic features each

for the two stages. 

(iii) Who proposed the theory of Natural

Selection? 

https://dl.doubtnut.com/l/_uBZgsiv8Ok8s


(iv) Name the organism used as an example to

explain 'Industrial Melanisum'. 

(v) Give two examples of Vestigial organs in

humans.

Watch Video Solution

38. Given below are two stages in the

evolution of man. Study them and answer the

questions that follow : 

https://dl.doubtnut.com/l/_uBZgsiv8Ok8s
https://dl.doubtnut.com/l/_i0NPagL2hYXF


 

(i) Identify Australopithecus and Neanderthal

man from the above pictures. 

(ii) Mention two characteristic features each

for the two stages. 

(iii) Who proposed the theory of Natural

Selection? 

(iv) Name the organism used as an example to

explain 'Industrial Melanisum'. 

(v) Give two examples of Vestigial organs in

humans.

https://dl.doubtnut.com/l/_i0NPagL2hYXF


Watch Video Solution

39. Given below are two stages in the

evolution of man. Study them and answer the

questions that follow : 

 

(i) Identify Australopithecus and Neanderthal

man from the above pictures. 

(ii) Mention two characteristic features each

for the two stages. 

https://dl.doubtnut.com/l/_i0NPagL2hYXF
https://dl.doubtnut.com/l/_QbVezrdb0srz


(iii) Who proposed the theory of Natural

Selection? 

(iv) Name the organism used as an example to

explain 'Industrial Melanisum'. 

(v) Give two examples of Vestigial organs in

humans.

Watch Video Solution

40. Given below are two stages in the

evolution of man. Study them and answer the

questions that follow : 

https://dl.doubtnut.com/l/_QbVezrdb0srz
https://dl.doubtnut.com/l/_1Il8IlRGYACk


 

(i) Identify Australopithecus and Neanderthal

man from the above pictures. 

(ii) Mention two characteristic features each

for the two stages. 

(iii) Who proposed the theory of Natural

Selection? 

(iv) Name the organism used as an example to

explain 'Industrial Melanisum'. 

(v) Give two examples of Vestigial organs in

humans.

https://dl.doubtnut.com/l/_1Il8IlRGYACk


Watch Video Solution

41. In Mendel's experiments, tall pea plants (T)

are dominant over dwarf pea plants (t). 

What is the phenotype and genotype of the

 generation if a homozygous tall plant is

crossed with a homozygous dwarf plant ?

Watch Video Solution

F1

https://dl.doubtnut.com/l/_1Il8IlRGYACk
https://dl.doubtnut.com/l/_Ns8dh9iUgJqC


42. In Mendel's experiments, tall pea plants (T)

are dominant over dwarf pea plants (t). 

Draw a Punnett square board to show the

gametes and offspring when both the parents

are heterozygous for tallness.

Watch Video Solution

43. In Mendel's experiments, tall pea plants (T)

are dominant over dwarf pea plants (t). 

https://dl.doubtnut.com/l/_UfRZ7A2KUOKn
https://dl.doubtnut.com/l/_N8ssgKI0uG8z


What is the phenotypic ratio and genotypic

ratio of the above cross in (ii) ?

Watch Video Solution

44. State Mendel's Law of Dominance.

Watch Video Solution

45. In Mendel's experiments, tall pea plants (T)

are dominant over dwarf pea plants (t). 

What is a Dihybrid Cross?

https://dl.doubtnut.com/l/_N8ssgKI0uG8z
https://dl.doubtnut.com/l/_JZaG7L3dO7YN
https://dl.doubtnut.com/l/_qs9Zf5cvlG52


Watch Video Solution

46. Given below is a diagram representing a

stage during the mitotic cell division। Study

the diagram and answer the following

questions : 

 


Identify the stage by giving a suitable reason.

https://dl.doubtnut.com/l/_qs9Zf5cvlG52
https://dl.doubtnut.com/l/_XhgkkfB3ikrh


Watch Video Solution

47. Given below is a diagram representing a

stage during the mitotic cell division। Study

the diagram and answer the following

questions : 

 


Is it a plant or an animal cell? Give a reason to

support your answer.

https://dl.doubtnut.com/l/_XhgkkfB3ikrh
https://dl.doubtnut.com/l/_fHvuN05sF9mW


Watch Video Solution

48. Given below is a diagram representing a

stage during the mitotic cell division। Study

the diagram and answer the following

questions : 

 


https://dl.doubtnut.com/l/_fHvuN05sF9mW
https://dl.doubtnut.com/l/_8ACoyhWLmfoE


Draw a neat, labelled diagram of the stage

which follows the one shown in the diagram.

Watch Video Solution

49. Given below is a diagram representing a

stage during the mitotic cell division। Study

the diagram and answer the following

questions : 

https://dl.doubtnut.com/l/_8ACoyhWLmfoE
https://dl.doubtnut.com/l/_h4NxUy020i8i


 


How many chromosomes will each daughter

cell have after the completion of the above

division ?

Watch Video Solution

50. Given below is a diagram representing a

stage during the mitotic cell division। Study

https://dl.doubtnut.com/l/_h4NxUy020i8i
https://dl.doubtnut.com/l/_Kh0BF9IU0k3L


the diagram and answer the following

questions : 

 


Name the four nitrogenous bases.

Watch Video Solution

51. Differentiate between : Cerebrum and

Spinal cord (Arrangement of cytons and axons

https://dl.doubtnut.com/l/_Kh0BF9IU0k3L
https://dl.doubtnut.com/l/_Kq6ABPRq4fRk


of neurons).

Watch Video Solution

52. Which part of the ear functions to

maintain body balance.

Watch Video Solution

53. Answer the following questions briefly : 

Explain how the human eye adapts itself to

bright light and dim light.

https://dl.doubtnut.com/l/_Kq6ABPRq4fRk
https://dl.doubtnut.com/l/_ABBqYOFAAdyc
https://dl.doubtnut.com/l/_DsgrmPj5k9lT


Watch Video Solution

54. What is Parthenocarpy ? Give one example.

Watch Video Solution

55. Mention any two objectives of 'Swachh

Bharat Abhiyan'.

Watch Video Solution

https://dl.doubtnut.com/l/_DsgrmPj5k9lT
https://dl.doubtnut.com/l/_5QoqvjXQ55Qd
https://dl.doubtnut.com/l/_9SDiz7j6xxdw


56. The diagram given belwo represents a

system in the human body. Study the diagram

and answer the following question: 

 


Identify the system.

Watch Video Solution

https://dl.doubtnut.com/l/_gYMXC2As9GJg
https://dl.doubtnut.com/l/_p15eeJ9yb1mt


57. The diagram given belwo represents a

system in the human body. Study the diagram

and answer the following question: 

 


Label the parts marked 5 and 6.

Watch Video Solution

https://dl.doubtnut.com/l/_p15eeJ9yb1mt


58. The diagram given belwo represents a

system in the human body. Study the diagram

and answer the following question: 

 


Name the two hormones secreted by 1.

Watch Video Solution

https://dl.doubtnut.com/l/_Ho0I4BmTvWZy
https://dl.doubtnut.com/l/_ESucCXlvQD6J


59. The diagram given belwo represents a

system in the human body. Study the diagram

and answer the following question: 

 


Mention the number and the name of the part

involved in fertilization and implantation from

the above diagram.

Watch Video Solution

https://dl.doubtnut.com/l/_ESucCXlvQD6J


60. The diagram given belwo represents a

system in the human body. Study the diagram

and answer the following question: 

 


Mention the surgical methods of

contraception in 

https://dl.doubtnut.com/l/_ESucCXlvQD6J
https://dl.doubtnut.com/l/_kosRz4gqixe7


1. Human males 

2. Human females.

Watch Video Solution

https://dl.doubtnut.com/l/_kosRz4gqixe7

